Corrections

Equations (1) *

La solution de
l'équation est 2.

74+x-7 =12-7
x =5

La solution de
l’équation est 5.

10,16 + x = 8,5
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La solution de
l‘équation est 9.
48 =x+ 12,6

x =7

La solution de

l'équation est 7.
x + 19,6 = 2,7

' x+42—-42=18—42|1016+x—1016=85-10,16 | 48—126=x+126—126 | x+19,6 = 2,7 — 19,6

x = —2,4

La solution de

l’équation est -2,4.

__________________________________________________________________________________________________________________________________________

équaﬁons (2) Xk

8% = x + 5%
64 = x + 25
x = 64- 25
x = 39

La solution de

l'équation est 39.

x = —1,66

La solution de
l'équation est -1,66.

x = 40

La solution de

l'équation est 40.

—78=x

La solution de
l'équation est -7,8.

x = 25-4
x = 21

La solution de

l’équation est 21.

x = —16,9

La solution de
l'équation est -16,9.

100 = 25 + x
x = 100 — 25
x = 75

La solution de

l'équation est 75.




